Losungen zum Arbeitsblatt

1, Flache eines Raumes G
+ = 3002 - 3,342 =-4,064 =2,0Mn

a = 4,060 + 2,014 = 6,0/9m

A LQC* h = 6,079 ;4065 * 334 = 16,04m?2

U=23,34+ 4,065 + 3,90 + 6,0/9 = 1/,38m

3,34

2, Innenhot eines Gebaudes
d =+ 45,352 + 38,402 =+ 353118 = 59,424m
| =+ 59,4242 - 24,132 =-/2048,95 = 54,304m

A =_4530 * 3840 , 24,13 * 54,304 _
= > 5 =

= 870,72 + 655,18 = 1626,90m
U =4535 + 38,40 + 24,13 + 54,304 = 162,18m

3, Giebelwand
h =800 -526=320m h,=120m hy=2,00m
h+2,30m h,= 0,95m

A — 9,60 * 8,25 _ 2,61 *20,95 _ 5,6822* 2,05 —
= 31,20 - 1,24 - 5,77 = 24,19m?

| = 46,6322 + 2,052 =+35,92 = 5,99m
L7 2,6° + 0952 =47,71" = 2,78n
U=9,60 +120 + 5,99 + 1,36 + 2,78 + 2,30 = 23,23m
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